
Physics  Electric Circuits 

Circuit Math 
 

Solve the following problems showing all work. 
 
1. Find IT for the following circuit. 

 

I1 = 2A I2 = 1A

IT = ? 

I3 = 4A 

 
 
 
 
 
 
2. Complete the table for this circuit. 
 
 
 
 
 
 
 
VT = 12 V V1 =  V2 =  V3 =  
RT = 9 Ω R1 = 3 Ω R2 = 2 Ω R3 = 
IT = I1 = I2 = I3 = 
 
3. Complete the table for this circuit. 
 
 
 
 
 

 

VT = 10 V V1 =  V2 =  
RT =  R1 = 20 Ω R2 = 30 Ω 
IT = I1 = I2 = 
 

 

VT = 12V
RT  = 9 Ω 

R1 =3 Ω 

R3 = ? 

R2 =2 Ω 

R1 = 20 Ω

R2 = 30 Ω

VT = 10V 
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4. Find the following. 

VT = 18V 
IT = 4 A 

3

 

 

 

V2 = _______ 

V4 = _______ 

I3 = _______ 

B= 3 V

I2 = 3 A

V1 = 6 V 

V4 = ? 

I4 = _______ 

 

5. Find the following. 

 

I1 = 6 A V2 = 120 V 

IT =15 A 
 

 

 
VT = _______ 

V1 = _______ 

I2 = _______ 

R1 = _______ 

R2 = _______ 

 

VT = 120V

R1 = ? 

R3 = 10 Ω 

V2 = 45 V 
R2 = 30 Ω 

6. Find the following. 

 

 

 
 
 
V3 = _______ 

V1 = _______ 

I1 = _______ 

I2 = _______ 

I3 = _______ 

R1 = _______ 

RT = _______ 
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I2 = 2 A VT  = 72 V 

V1 = 24 V 

I3 = 5 A 
V3 = 20 V 

B B

V4 = ?

I5 =4 A

I7 = ? A 

7. Find the following. 

 
 
 
 
 
 
 
 
 

 

I1 = _______ 

V2 = _______ 

V4 = _______ 

V5 = _______ 

I4 = _______ 

I7 = _______ 
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